Angelholms BS

Onsdags-spel 2021-10-13

SCRATCH

Partavling, 9 bord, 17 par. Antal brickor: 24. Medel: 168.0. Frirond (*) ger egen procent.

Plac Par Poang % Namn MID Klubb
1 12 2455 73.05 Helen Bohman - Tor-Bjoérn Bohman 2461 8467  Angelholms BS
2 7 212.7 63.31 Helena Heuman - Sigurd Heuman 30388 60079 Angelholms BS
3 18 204.0 60.71 Sonja Eriksson - Gosta Eriksson 53119 5185  Angelholms BS - Visby BS
4 8 180.0 53.57 Jan Nyander - Kerstin Karlsson 42886 52685 Angelholms BS
5 17 179.0 53.27 Kerstin Schlyter-Sunnerholm - Agneta Edbergh 43852 12217 Vastra Bjare BK
6 2 171.3  50.97 Mats Olofsson - Kerstin Olofsson 60692 60691 Angelholms BS
7 10 168.0 50.00 Inga Grénberg - Erik Lauritsen 35477 59652 Angelholms BS
8 5 166.9 49.68 Christina Carlander - Kurt Lindvall 30382 60568 Angelholms BS
9 14 162.0 48.21 Per Ekelin - Kenneth Broberg 41772 46516 Angelholms BS
10 6 160.4  47.73  Anders Olsson - Boris Larsson 4950 12220 Vastra Bjare BK
11 13 152.0 45.24 Mats Rosén - Inger Schonbeck 27498 40891 Angelholms BS
12 9 150.5 44.81 Bittan Andersson - Bo Andersson 14526 92489 Angelholms BS
12 1 150.5 44.81 Gerd Melén - Gunni Larsson 81482 13118 Angelholms BS
12 4 150.5 44.81 Jan Adamsson - Susanne Adamsson 60909 60908 Angelholms BS
15 15 147.0 43.75 Inga-Maj Askfelt - Malou Magnusson 15376 41841 Angelholms BS
16 3 140.7  41.88 Gunnel Ojelund - Anita Frick 26737 46533 Angelholms BS
17 11 1145 34.09 Lennart Olsson - Bodil Lindhe 46545 46540 Angelholms BS
1 4 K83 Basta kontrakt 2 & Kn64 Basta kontrakt 3 4875 Basta kontrakt
Nord v 763 5NT O =-460 Ost v K10986 3¢ O =-110 Syd v K7 2NT SD-1-100
Ingen + K5 NS ¢ E7 ov + DKn86
#107643 & ¢ v o NT #E105 & ¢ v & NT #E953 & ¢ v & NT
4DKn9 &E72 N2 4242 4E1098 4K N4 4665 4 KD102 4 E943 N8 86 57
v 109 vKD82 S 24242 v72 vED43 S 43665 vDKn5 v9864 S88657
¢DKn32 ¢E9 O 119 109 11 ¢ K63 ¢ DKn842 099767 ¢+ K2 +1073 0546 86
#EKD8 #Kn952 vV 119 109 11 #Kn942 «D83 V99767 210764 #K2 V54628F©6
410654 4 D7532 4 Kn6
v EKn54 v Kn5 vE1032
4108764 + 1095 + E954
*- *K76 #DKn8
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr ut Res Poang
7 3 3NO-1 +4 50 140 00|12 11 2¢v N= oK 110 140 00|13 2 2¢ S+1 &K 110 13.0 1.0
5 10 3NV= v3 -400 6.0 8015 2 3NO-2 vJ 100 120 20|18 5 3¢ S= oK 110 13.0 10
9 17 3NO= *4 -400 60 80| 510 3¢ O-1 vJ 50 80 60| 8 4 INN= 43 90 10.0 4.0
12 11 54 0= *7 -400 6.0 80| 7 3 3¢40-1 &6 50 8.0 6.0[10 17 Pass 8.0 6.0
13 1 3NO= a4 -400 6.0 80(18 4 3NO-1 vJ 50 80 60| 1 12 INN-1 44 -50 4.0 10.0
14 8 3NV= &T -400 6.0 80| 9 17 3¢ O= a2 -110 4.0 10.0( 9 14 INN-1 v4 -50 4.0 10.0
15 2 3NV= v7 -400 6.0 80(13 1 2NO= vJ -120 20 12015 3 34 S-1 4Q -50 4.0 10.0
18 4 3NO= +4 -400 6.0 80(14 8 2v N-2 &K -200 0.0 14011 6 2vS-2 &K -100 0.0 14.0
6 - 6.7 6 - 6.7 - 7 8.9
4 4 ED1065 Basta kontrakt 5 464 Basta kontrakt 6 & Kn852 Basta kontrakt
Vast vE92 2NT N =120 Nord vD 5¢v O =-450 Ost v DKn7 ANT S =430
Alla + 102 NS + D982 ov ¢ EK7
+D106 & ¢ v & NT #D107532 & ¢ v & NT #K73 & ¢ v & NT
49 aKKn87432 N7 7 7 6 8 D5 4 KKn102 N6 7 26 3 4 EK103 4964 N9 49 7 10
vDKn63 vK8 S67768 vK10974 vEKn853 S67263 v3 v 965 S949710
¢ KKn984 + - 06 56 75 + K63 +5 06 4 117 8 ¢ DKn96532 ¢ 108 049 253
#EKn4 #8753 V656775 #EK8 #Kn94 V6 4117 8 *9 #EKn864 V49253
.- « E9873 « D7
v 10754 v 62 v EK10842
+ ED7653 + EKn1074 *4
*K92 *6 #D1052
Par  Kontr ut Res Poéang Par  Kontr ut Res Poéang Par  Kontr ut Res Poéang
11 6 2v V-2 a5 200 140 0012 7 3vO+2 &6 -200 130 10| 2 1 4vS= 9 420 9.0 50
13 2 3NO-1 +6 100 11.0 3.0(17 11 3v V+2 ¢8 -200 130 10| 4 15 4vS= *9 420 9.0 50
15 3 24 0-1 v¥5 100 11.0 3.0(13 3 4v V= »7 -420 100 40| 9 5 4v N= v5 420 9.0 50
9 14 14 N= 8 80 80 60| 2 1 4vV+l 8 -450 40 10.0(12 7 4vS= A A 420 9.0 50
8 4 INS-1 +9 -100 50 90| 4 15 4vV+1 8 -450 40 10.0[(13 3 4v S= aK 420 9.0 50
18 5 14 N-1 &5 -100 50 90| 6 18 4v V+1l &3 -450 40 10.0(17 11 4v S= *9 420 9.0 50
10 17 3# 0= v5 -110 20 120 9 5 4vO+1 6 -450 40 10.0| 6 18 3NN= *T 400 2.0 120
1 12 4vS-3 «9 -300 0.0 140(14 10 4vV+1 46 -450 40 10.0(14 10 4v S-1 49 -50 0.0 14.0
-7 89| - 8 75| - 8 7.5
7 4 K876 Basta kontrakt 8 47652 Basta kontrakt 9 4 KKn10974 Basta kontrakt
Syd vD754 5¢v O =-650 Vast v EKn62 4v N =420 Nord v E652 24 N =110
Alla + D7 Ingen + Kn109 ov + 84
#975 & ¢ v & NT #43 & ¢ v & NT *2 & ¢ v & NT
4Kn932 4EI10 N2 2233 4943 4 EKKn10 N 104 105 7 4 E5 48632 N56 685
vE32 v Kn1096 S22233 v K9 v 753 S 104 105 7 v 1097 vKD83 S566 85
¢ EKKn82 ¢ 106 O 1111111010 ¢+ K85432 ¢ ET76 038273 ¢ DKn1076 ¢K 076655
*6 #EKD83 V 1011101010 «107 *K86 vVv38273 «D53 *K864 V768655
D54 4D8 4D
v K8 vD1084 vKn4
49543 +D ¢ E9532
#Kn1042 #EDKn952 #EKn1097
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
1 8 3NO-1 +4 100 140 00| 1 8 24S+2 43 130 120 20| 2 9 24 N= »6 110 9.0 50
14 11 3vO= *4 -140 120 20|10 6 2#S+2 vK 130 120 20|13 5 24 N= vK 110 9.0 50
3 2 3NO= *4 -600 10.0 4.0|14 11 44 S-= +K 130 120 20|14 12 24 N= +K 110 9.0 50
7 18 3NV+1 v5 -630 50 90|13 4 24S+1 v9 110 80 60|15 6 24 N= vK 110 9.0 50

Angelholms BS, Onsdags-spel 2021-10-13, sida 1 av 3




13 4 3NO+1 & -630 50 90| 7 18 5¢ V-2 YA 100 6.0 8017 1 24 N= +K 110 9.0 50
15 5 3NV+1 &5 -630 50 90(15 5 4¢ V-1 &4 50 3.0 11.0(18 8 24 N= +K 110 9.0 5.0
17 12 3NV +1 a7 -630 50 9.0(17 12 3¢ V-1 &4 50 3.0 110 4 3 34 N-1 ¢K -50 2.0 120
10 6 3INO+3 #4 -690 0.0 140 3 2 3vyN-1 &A -50 0.0 140(11 7 44S-3 &3 -150 0.0 14.0
-9 63| - 9 63|10 - 7.0
10 4 D105 Basta kontrakt 11 4 K543 Basta kontrakt 12 4 D87 Basta kontrakt
Ost v 1082 5NT O =-660 Syd v 76432 5¢ V =-400 Vast vD1032 6NT V =-990
Alla + KD985 Ingen +93 NS 4763
#53 & ¢ v & NT #32 & ¢ v & NT #KD10 & ¢ v & NT
oK ~E4 N16181 «EDKn 41086 N2 286 3 «Knl1053 4 EK2 N21311
vEKD963 vKn54 S16181 v9 v5 S 2286 3 v K64 vE95 S21311
¢ E76 41043 O 117 115 11 ¢+ Kn6542 ¢ ED1087 O 11115 6 7 + K8 ¢ ED1042 O 1012101212
&D42 *K10976 vV 117 115 11 #EKD8  #10965 V 11115 6 7 *E652 *Kn9 V 1112101212
# Kn987632 4972 » 964
v7 v EKDKn108 v Kn87
¢ Kn2 + K + Kn95
#EKn8 *Kn74 #8743
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
4 3 34S-1 YA -100 130 10|12 8 2vS= *A 110 140 00| 3 10 1¢ O+2 w7 -110 140 0.0
17 1 44 N-1  vJ -100 130 10|14 1 5¢V-1 v2 50 110 30| 5 4 3NO+1 v7 -430 120 2.0
15 6 54S-3 vA -300 100 4.0|18 9 5¢ O0-1 vA 50 11.0 3.0(14 1 3NO+2 44 -460 9.0 50
14 12 4v V= 3 -620 7.0 70| 2 17 4vS-2 #A -100 80 6.0(18 9 3NO+2 8 -460 9.0 50
18 8 4v V= +Q -620 70 70| 3 10 4e V= v7 -130 50 9012 8 4vV+2 &K -480 6.0 8.0
2 9 4v V+1l K -650 20 120 5 4 3¢ O+1 YA -130 50 90(13 6 3NO+3 7 -490 3.0 110
11 7 4v V+1 K -650 20 120(13 6 5¢ O= vA -400 10 13.0|15 7 3NO+3 #4 -490 3.0 110
13 5 4v V+1 K -650 20 120(15 7 5¢ O= vA -400 10 13.0| 2 17 54 V+2 ¢3 -510 0.0 14.0
10 - 7.0 -1 48| - 11 4.8
13 4 K83 Basta kontrakt 14 4 EKn82 Basta kontrakt 15 & Kn62 Basta kontrakt
Nord v D1052 ANT O =-630 Ost v5 4¢ S =130 Syd v DKn73 24V =-90
Alla + K4 Ingen + KD102 NS + KKn4
#KKn103 & ¢ v & NT *K984 & ¢ v &4 NT #EKn10 & ¢ v &4 NT
«DKn10 4 E9765 N36523 «KD # 96543 N 8 104 6 8 «D843 #E7 N46 777
vE97 v KKn3 S36523 vK1083 v EDKnN96 S 8 104 6 8 vE92 v106 S56777
¢E752 - O 107 8 1010 ¢ 974 +5 052865 +EG6 4109532 08 7565
982 *E7654 vV 107 8 1010 #DKn65 #102 V52865 #K983 #D654 V87565
442 » 107 & K1095
v 864 v742 v K854
+ DKn109863 + EKn863 + D87
»D *E73 *72
Par Kontr ut Res Poéang Par Kontr ut Res Poéang Par Kontr ut Res Poéang
4 11 34 O-1 +Q 100 13.0 10|17 3 INS+2 3 150 13.0 10| 2 10 2¢ N= a7 110 13.0 10
18 10 34 O-1 #Q 100 13.0 1.0(18 10 2¢ S+3 #6 150 13.0 10|17 4 2vS= ¢ A 110 13.0 1.0
7 13 24 O+1 8 -140 100 40| 1 9 4¢ S= oK 130 90 50| 7 6 2NO-2 v5 100 9.0 50
6 5 34V+l a3 -170 80 60| 6 5 4 S= +K 130 90 50| 8 13 3aV-2 v3 100 9.0 50
15 8 2vS-4 4Q -400 6.0 80| 7 13 INS+1 8 120 6.0 8011 18 INO= v8 -90 6.0 8.0
1 9 44 0= +Q -620 3.0 11.0(14 2 4v O-2 o7 100 40 10.0({14 3 3v N-1 4A -100 3.0 110
17 3 44 0= v4 -620 3.0 110 4 11 4¢ N-1  vJ -50 10 13.0|15 9 2NN-1 2 -100 3.0 110
14 2 44 0+1 v4 -650 0.0 140(15 8 4¢ N-1 YA -50 10 13.0| 5 12 14 V+l 97 -110 0.0 14.0
- 12 102 - 12 102 - 1 6.3
16 a74 Basta kontrakt 17 4 DKn4 Basta kontrakt 18 4 Kn76 Basta kontrakt
Vast v KKn752 54 V =-650 Nord v D105 44 O =-420 Ost vE764 5¢ OD-2300
oV ¢ EK10 Ingen + K87 NS ¢ Kn2
#Kn72 & ¢ v & NT #7432 & ¢ v & NT »K862 & ¢ v & NT
«KKn65 4D983 N2 4524 « K9876 4 E53 N267 23 «E105 » 83 N 113 7 105
v8 vED106 S 24524 v K32 v Kn6 S267 23 vD v KKn952 S 113 6 105
¢ DKNn764 ¢5 O 109 8 119 ¢ 105 ¢ EKn2 O 106 6 109 ¢+ D1098743 ¢ EKG5 029537
#D93 *EK105 vV 109 8 119 K109 #EDKn85 V 106 6 109 *Kn5 #93 V29537
4 E102 »102 4 KD942
v 943 v E9874 v 1083
49832 + D9643 ¢-
»864 *6 #ED1074
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
8 13 2NO+1 3 -150 130 10|13 9 3NO-1 3 50 140 00|13 9 44 S-= vQ 620 14.0 0.0
14 3 2NO+1 v3 -150 13.0 1.0|15 10 34 V+2 +vQ -200 120 20| 3 11 24 S+3 ¥Q 200 120 20
11 18 24 O+3 v9 -200 100 4.0| 3 11 3NO= v7 -400 70 70| 6 1 34S+1 vQ 170 10.0 4.0
7 6 INO+4 v9 -210 80 60| 4 14 3NO= v4 -400 70 7.0(15 10 5¢ V-2 46 100 70 7.0
2 10 4e V= ¢ A -620 50 90| 8 7 3NO= v4 -400 70 70(17 5 5¢ V-2 a7 100 70 7.0
17 4 44 O= v3 -620 50 9017 5 3NO= v4 -400 70 70| 8 7 4e V-1 &2 50 4.0 10.0
5 12 44 V+1 +A -650 10 130| 6 1 44 O+1 &6 -450 10 13.0| 4 14 3¢ V= 46 -110 2.0 120
15 9 44 V+1 +A -650 1.0 13.0|18 12 44 O+1 ©vA -450 1.0 13.0|18 12 3¢ V+2 ©vA -150 0.0 14.0
-1 63| - 2 71| - 2 7.1
19 4 E9 Basta kontrakt 20 « D87 Basta kontrakt 21 4« KD9 Basta kontrakt
Syd v9 5NT S =460 Vast v EKKn10942 74 VD-61700 |Nord v 62 4v O =-420
oV + DKn9873 Alla ¢+ Kn NS ¢E4
#K1098 & ¢ v & NT »E5 & ¢ v & NT #E87532 & ¢ v & NT
D5 «Knl10863 N 11116 8 11 + 105 2Kn96432 N 6 8 136 12 2 EKNn87 41043 N8 5345
vE7643 vKn10852 S 11116 8 11 v 653 v- S 6 8 136 12 vEK1093 v D854 S85345
465 2 0226 42 ¢ K1043 +962 06 4071 + K6 ¢ D8752 O5 8 109 8
#Kn743 #D5 V22642 #DKn93 #K1076 V64071 *KKn *9 vV 58 109 8
4 K742 & EK 4 652
vKD v D87 v Kn7
+ EK104 + ED875 + Kn1093
*E62 #842 +D1064
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
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5 14 3NS+4 v3 520 120 20|18 1 6NS= 1440 140 00(10 9 1y V+3 &K -170  13.0 1.0
9 8 3NS+4 v3 520 120 20| 4 12 6vy N= 1430 120 20|12 15 3vy V+1 &K -170  13.0 1.0
18 1 3NS+4 v4 520 120 20| 5 14 4v N+2 680 6.0 80| 8 3 1lvyV+4 +A -200 100 4.0
7 2 3NS+2 v6 460 70 70| 7 2 4y N+2 680 6.0 80| 5 1 4vV= *A -420 4.0 10.0
17 6 3NS+2 v3 460 70 7.0(11 15 4v N+2 680 6.0 8013 11 4v V= *A -420 4.0 10.0
4 12 5¢ S= +6 400 30 11013 10 4v N+2 680 6.0 80(14 6 4v V= *A -420 4.0 10.0
11 15 5¢ S= vA 400 3.0 11.0(17 6 4y N+2 680 6.0 8017 7 4v V= *A -420 4.0 10.0
13 10 6¢ S-1 YA -50 0.0 140 9 8 6YyN-1 -100 0.0 140(18 2 4v V= ¢ A -420 4.0 10.0
- 3 59| - 3 59| - 4 6.3
22 4 D2 Basta kontrakt 23 + EK109 Basta kontrakt 24 4 E653 Basta kontrakt
Ost v EKn 3v O Syd v D96 5NT S =660 Vast v E10865 3v N =140
ov ¢ KKn10753 Alla ¢E2 Ingen +106
#Kn65 & ¢ v o N #KD109 L *96 LI A
» 863 & EKn9 N58 466 & Kn62 &84 N9 7 «D87 4Knl042 N9 697
v KD87 v 6543 S58466 v 102 v K83 S97 vK932 vD4 S96 97
+4 + E86 08596 6 ¢ Kn7 ¢ KD6543 045 ¢975 ¢ EKKn42 046 46
#EK1098 #742 V85966 #E86542 #73 V45 D82 #Kn3 V46 46
4 K10754 4 D753 « K9
v 1092 v EKn754 v Kn7
+ D92 41098 + D83
«D3 *Kn #EK10754
Par Kontr Ut Res ing Par Kontr Res Par Kontr Ut Res
14 6 4v O0-1 2 100 00| 9 4 44 S+2 680 18 3 3NS+1 5 430 0.0
5 1 2¢ N= &7 90 20|15 1 4v S+2 680 12 13 2v V-3 T 150 2.0
10 9 3¢ N-1 &2 -50 6.0(18 3 44 N+2 680 6 2 24S+1 9 110 7.0
12 15 44 S-1  #A -50 6.0 6 2 44 N+1 650 9 4 34S-= a7 110 7.0
13 11 3¢ N-1  v4 -50 6.012 13 4v S+1 650 11 10 3+ S= +5 110 7.0
8 3 4¢ N-2 v6 -100 10.0|17 8 44 N= 620 14 7 2#S+1 9 110 7.0
18 2 3v0O= +Q -140 12.0|14 7 2v N+3 200 17 8 3¢ 0O-2 vJ 100 12.0
17 7 4¢DN-2 &7 -300 140 (11 10 2v S+2 170 15 1 3v N-1 +A -50 14.0
- 63| 5 - 5 -
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